



$$\Rightarrow AC = \sqrt{b^2 + a^2}$$

$$\therefore \sin \theta = \frac{BC}{AC} = \frac{a}{\sqrt{b^2 + a^2}} \text{ and } \cos \theta = \frac{AB}{AC} = \frac{b}{\sqrt{b^2 + a^2}}$$

$$\therefore \left(\frac{a \sin \theta - b \cos \theta}{a \sin \theta + b \cos \theta}\right) = \left(\frac{a \times \frac{a}{\sqrt{b^2 + a^2}} - b \times \frac{b}{\sqrt{b^2 + a^2}}}{a \times \frac{a}{\sqrt{b^2 + a^2}} + b \times \frac{b}{\sqrt{b^2 + a^2}}}\right)$$

$$= \left(\frac{\frac{a^2}{\sqrt{b^2 + a^2}} - \frac{b^2}{\sqrt{b^2 + a^2}}}{\sqrt{b^2 + a^2}} + \frac{b^2}{\sqrt{b^2 + a^2}}\right)$$

$$= \left(\frac{\frac{a^2 - b^2}{a^2 + b^2}}{a^2 + b^2}\right)$$

Solution 12 $\sin \theta = \frac{12}{13}$ given We know that,

$$\cos\theta = \sqrt{1 - \sin^2\theta} = \sqrt{1 - \left(\frac{12}{13}\right)^2} = \sqrt{1 - \frac{144}{169}} = \sqrt{\frac{25}{169}} = \frac{5}{13}$$

$$\therefore \left(\frac{2\sin\theta - 3\cos\theta}{4\sin\theta + 9\cos\theta}\right) = \left(\frac{2 \times \frac{12}{13} - 3 \times \frac{5}{13}}{4 \times \frac{12}{14} + 9 \times \frac{5}{5}}\right) = \left(\frac{24}{40} + \frac{14}{45}\right) = \frac{5}{3} = 3$$
Solution 13
$$Prev \qquad Page \qquad 3 \text{ of } 26$$

$$\sin\theta = \frac{1}{2} = \frac{BC}{AB}$$
In right $\triangle ABC$, $\angle B = 90^\circ$ and $\angle A = \theta$
Let BC = k and AB = 2k
Then, $AC^2 = AB^2 + BC^2 = (4k^2 + k^2) = 5k^2$

Consider AABC where
$$\angle B = 90^{\circ}, \angle A = 0$$

Then, $\sin \theta = \frac{\text{Perpendicular}}{\text{Hypotenuse}} = \frac{BC}{AC} = \frac{a^2 - b^2}{a^2 + b^2}$
Let BC = $a^2 - b^2$ and AC = $a^2 + b^2$
Then, by Pythagoras theorem,
AC² = AB² + BC²
 $\Rightarrow AB^2 = AC^2 - BC^2 = (a^2 + b^2)^2 - (a^2 - b^2)^2 = a^4 + b^4 + 2ab^2 - a^4 - b^4 + 2ab^2 = 4ab^2$
 $\Rightarrow AB = 2ab$
Now,
 $\cos \theta = \frac{Base}{\text{Hypotenuse}} = \frac{AB}{AC} = \frac{2ab}{a^2 + b^2}$
 $\tan \theta = \frac{\text{Perpendicular}}{\text{Base}} = \frac{BC}{AB} = \frac{a^2 - b^2}{2ab}$
 $\cot \theta = \frac{1}{\tan \theta} = \frac{2ab}{a^2 - b^2}$
 $\csc \theta = \frac{1}{\sin \theta} = \frac{a^2 + b^2}{a^2 - b^2}$
 $\sec \theta = \frac{1}{\cos \theta} = \frac{a^2 + b^2}{2ab}$
Solution 10
 $Preview \frac{from Note Sale CO.uk}{Page B}} a$



 $\Rightarrow \angle A = \angle B$

Trigonometric Ratios Exercise MCQ

Solution 1

